
SAP ABAP table V_TZ40 {Generated Table for View}

V_TZ40

XLAND [CHAR (2)]

GSART [CHAR (3)]

MANDT [CLNT (3)]

SANLF [NUMC (3)]

SSKZB [NUMC (1)]

SUDEC [NUMC (2)]

SDV [CHAR (2)]

SUABT [CHAR (2)]

SAART [CHAR (6)]

SSKZF [NUMC (1)]

SNW600 [CHAR (4)]

SMW102 [CHAR (5)]

SNEU_ANL [CHAR (9)]

X_R97_03 [CHAR (2)]

X_R97_05 [CHAR (2)]

X_R97_08 [CHAR (1)]

SMWWHR [CUKY (5)]

SAWHR [CUKY (5)]

X_R97_101 [CHAR (4)]

X_R97_102 [CHAR (4)]

X_R97_103 [CHAR (4)]

X_R97_104 [CHAR (4)]

T000

MANDT [CLNT (3)]

 V_TZ40-MANDT = T000-MANDT 

0..N

1

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 V_TZ40-SAWHR = TCURC-WAERS 

0..N

1

 V_TZ40-SMWWHR = TCURC-WAERS 0..N

1

TW05

MANDT [CLNT (3)]

SUDEC [NUMC (2)]

 V_TZ40-SUDEC = TW05-SUDEC 
0..N

1

TZ11

MANDT [CLNT (3)]

SSKZB [NUMC (1)]

 V_TZ40-SSKZB = TZ11-SSKZB 
0..N

1

TZ13

MANDT [CLNT (3)]

SSKZF [NUMC (1)]

 V_TZ40-SSKZF = TZ13-SSKZF 
0..N

1

TZ18

MANDT [CLNT (3)]

RANTYP [CHAR (1)]

SNEU_ANL [CHAR (9)]

 V_TZ40-SNEU_ANL = TZ18-SNEU_ANL 
0..N

1

TZ28

XLAND [CHAR (2)]

SANLF [NUMC (3)]

SAART [CHAR (6)]

 V_TZ40-SAART = TZ28-SAART 0..N

1

TZ29

XLAND [CHAR (2)]

SANLF [NUMC (3)]

SNW600 [CHAR (4)]
 V_TZ40-SNW600 = TZ29-SNW600 0..N

1

TZ30

XLAND [CHAR (2)]

SANLF [NUMC (3)]

SDV [CHAR (2)]
 V_TZ40-SDV = TZ30-SDV 0..N

1

TZ31

XLAND [CHAR (2)]

SANLF [NUMC (3)]

SDV [CHAR (2)]

SUABT [CHAR (2)]

 V_TZ40-SUABT = TZ31-SUABT 
0..N1

TZ32

XLAND [CHAR (2)]

SANLF [NUMC (3)]

SMW102 [CHAR (5)]

 V_TZ40-SMW102 = TZ32-SMW102 

0..N

1

TZ36

XLAND [CHAR (2)]

X_R97_03 [CHAR (2)]

 V_TZ40-X_R97_03 = TZ36-X_R97_03 

0..N

1

TZ37

XLAND [CHAR (2)]

X_R97_05 [CHAR (2)]

 V_TZ40-X_R97_05 = TZ37-X_R97_05 

0..N

1

TZ38

XLAND [CHAR (2)]

X_R97_08 [CHAR (1)]

 V_TZ40-X_R97_08 = TZ38-X_R97_08 

0..N

1

TZ39B

XLAND [CHAR (2)]

SAART [CHAR (6)]

X_R97_10 [CHAR (4)]

 V_TZ40-X_R97_101 = TZ39B-X_R97_10 

0..N

1

 V_TZ40-X_R97_102 = TZ39B-X_R97_10 

0..N

1

 V_TZ40-X_R97_103 = TZ39B-X_R97_10 

0..N

1

 V_TZ40-X_R97_104 = TZ39B-X_R97_10 

0..N

1

TZAF

SANLF [NUMC (3)]

 V_TZ40-SANLF = TZAF-SANLF 

0..N

1

TZPA

MANDT [CLNT (3)]

GSART [CHAR (3)]

 V_TZ40-GSART = TZPA-GSART 

0..N

1


